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QUESTION 1

After importing a Jupyter notebook and CSV data file into IBM Watson Studio in the IBM Public Cloud project, it is
discovered that the notebook code can no longer access the CSV file. What is the most likely reason for this problem?

A. CSV files cannot be used as data sources in Watson Studio.

B. The CSV file was converted to a binary blob and must be converted in the notebook code.

C. The CSV file is stored in a Cloud Object Storage.

D. The CSV file is stored in a Watson Machine Learning instance and is only accessible via REST API.
Correct Answer: C

Reference: https://github.com/IBM/watson-stock-market-predictor/blob/master/README.md

QUESTION 2

Which algorithm is best suited if a client needs full explainability of the machine learning model?
A. decision tree

B. logistic regression

C. support vector machine (SVM)

D. recurrent neural network

Correct Answer: A

QUESTION 3
Which statement is true for naive Bayes?
A. Naive Bayes can be used for regression.

B. Let p(C1 | x) and p(C2 | x) be the conditional probabilities that x belongs to class C1 and C2 respectively, in a binary
model, log p (C1 | x) ?log p(C2 | x)>; O results in predicting that x belongs to C2.

C. Naive Bayes is a conditional probability model.
D. Naive Bayes doesn\\'t require any assumptions about the distribution of values associated with each class.
Correct Answer: C

Reference: http://users.sussex.ac.uk/~christ/crs/ml/lec02b.html

QUESTION 4
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What is a class of machine learning problems where the algorithm builds a mathematical model from a set of data that
contains both the inputs and the desired outputs?

A. unsupervised learning
B. mentoring

C. reinforcement learning
D. supervised learning
Correct Answer: D

Reference: https://en.wikipedia.org/wiki/Machine_learning

QUESTION 5

Which two statements are correct about deploying machine learning models? (Choose two.)

A. It allows integration within business applications.

B. It makes it possible to create reports for management dynamically using specific parameters from executives.
C. It is critical for achieving high accuracy in training.

D. Itis a necessary step in training and evaluating the performance of the models.

E. It is only possible on the cloud because they require a large amount of compute resources.

Correct Answer: CD
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